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ECONOMICS
Paper - 111

Note : This paper contains seventy five (75) objective type questions of two (2) marks each.
All questions are compulsory.

1.  Consider the following statements about the Lorenz curve :

L The degree of income inequality will be higher, farther the Lorenz curve is from the
line of equal distribution.

II.  The limits of Lorenz ratio (L) are : — 1 <L < 1

III. The degree income inequality will be lower, closer the Lorenz curve is to the line of
equal distribution.

Select the correct answer from the codes given below :

Codes :
(1) Onlyl 2) TandII
(3) IandIII (4) OnlyIlI
2.  Match List — I with List — II and select the correct answer from the codes given below the
lists :
List - I List — IT
(Profit Theory) (Economist)
a. Innovation 1. F.H. Knight
b. Rent of Ability ii.  J.A. Schumpeter
c. Risk and Uncertainty  iii. G.L.S. Shackle
d. Potential Surprise iv. F.A. Walker
Codes :

a b c d
(D) i i il iv
) i v i il
3) i i i v
@) iv i i il

3.  Consider the following statements in relation to current agrarian crisis in India :

L Indebtedness of farmers has increased.
II. Lack of adequate marketing facilities and presence of middlemen distort the
agricultural prices.

III. MNREGA Scheme
Select the correct answer from the codes given below :

Codes :
() TandII (2) IIandIII
(3) M only (4) TIandII
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retoTTET

eaA - 111

AT:  TH U H TR (75) TE-faehedia Uee € | Ul U9 o &t (2) 37k & | @t v Afearg €

1.

AR a5k o IR | FHHfeiad 2T W) [ger &Y |
[ AT & ARt ash T aaRor 3@m 9 g2 &, S € ST STHdT S gl |
[I. R~ Oa (L) R A E-1<L<1:
1. T & GRSt osh, WHT feIaXur Y@ o GHIT 81T, Sot &1 3719 SGHET HH 8 |

frfaEd el # ¥ Tel 3T & I DI

%

(1) wHaal (2) 1wdll
(3) 1uwdlll (4) FHaAll

-1 T GeAl-11 & 1 GAfeTd HiT 3 Gt o e 5T 10 Fei § F T I A 997 e

T -1 = - 10
(@t Ragie) (STATTTET)
a. =9 Y i UF, T4, e
b. Il N A ii. ST IR
c. OIREH IR FAMREAdr il ST, Uel. TH. Vbt
d. 99T 3w iv. UH T T
FH:

a b c d
(1) i i i iv
2) i iv i il
3) i i i iv
@) iv i i il

TR T SHH H Gohe o oy H =iThd i 1 foar &1

I T & oA A g g ¥

1. v foqum graenst st sHr qor faeifer o Sufefd § S goa fosiud giar € |
L. AT e

T ST T et § HEl IR I 9T e

£

(1) 13RI (2) I 3R I
(3) Hoe 11 (4) 13RI

J-01-16 3 Paper-I11



4. By which year, the Central Government has planned to double the income of the farmers ?

(1) 2019 (2) 2020
(3) 2022 4 2024
5.  As per 2013 estimates, which among the following States had the least Total Fertility Rate ?
(1) Uttar Pradesh (2) Madhya Pradesh
(3) Kerala (4) West Bengal

6. In which of the following approaches/theory, the rate of growth of population growth is
treated as exogenous ?
L. Classical theory of development
II.  Low income equilibrium trap of Nelson
III.  Domar growth model
Select the answer from the codes below :

Codes :
(1)  All the three above (2) Only III
(3) OnlyIandII (4) Onlyl

7. Gender discrimination index of UNDP is based on which among the following
components ?
L Reproductible health
II. Empowerment
III. Labour market conditions
Select the answer from the code below :

Codes :
() TandII (2) IIandIII
(3) IandII (4)  All the three above

8.  The target inflation rate in the monetary policy by R.B.I. is based on
(I) Consumer Price Index Number (2) Whole Price Index Number
(3) Fisher’s Ideal Index Number (4) G.D.P. Deflator

9.  Match the following by selecting the correct answer from codes given below :

List - I List — IT
a. M, i M, + saving deposits with post office saving banks
b. M, ii. M, + Net time deposits of public with banking system
M, iii.  Currency with the public + demand deposits with the banking
system + other deposits with the RBI
d M, iv. M, + all deposits with post office saving banks (excluding
National Saving Certificate.)
Codes :
a b c d
(1) i i i v

(2) 1 i iv i
3 1 1 v il
4) 1 iv 1 i1
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10.

11.

12.

13.

Match List — I with List — IT and select the correct answer using the codes given below the
lists :

List - I List - II

(Policy Rate as of May, 2016) (%)
a. Repo rate L. 21.25
b. Reverse Repo rate i 7
c. Bank Rate . 6
d. S.LR iv. 6.5
Codes :

a b c d

(1) i il i v

2) v m 1 1
@ v 1 a1
4 1 iv 11

The % inflation rate based on All India WPI has been negative during 2015-16, while the
inflation rate based on All India CPI has been moderately positive during the same period.

This divergence can be explained by which of the following ?
(1) The two index numbers have different base years.

(2) The two index numbers have different commodities and respective weights for
them.

(3) The two index numbers are released by different government departments.
(4) All of the above

Which among the following measures increase liquidity in the economic system ?
(I) Reduction in the Cash Reserve Ratio

(2) Increase in the Repo rate

(3) Increase in the statutory liquidity ratio maintained by the banks

(4) Increase in Reverse Repo rate

Assertion (A) : According to the Accelerator Theory of Investment, when consumption or
income increases investment would also increase.

Reason (R) : The theory assumes that there is excess capacity in the economy.
Select the correct answer from the codes given below :

Codes :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(3) (A) is true, but (R) is false.

4) (A) is false, but (R) is true.
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14.

15.

16.

17.

18.

19.

According to Friedman, on which of the following does the velocity of circulation of
money depend ?

(1) Market rate of interest on Bonds (2) Rate of change in general price level
(3) Ratio of savings to income (4) Ratio of savings to investment

Assertion (A) : According to Baumol, the transaction demand for cash balances varies
with respect to the square root of the volume of transactions.

Reason (R) : Transaction demand for money is a function of income.

Select the answer from the code below :

Codes :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(3) (A) is true, but (R) is false.

4) (A) is false, but (R) is true.

The slope of the IS curve depends upon

(1) the level of government expenditure

(2) the sensitivity of demand for real money balances to the interest rate
(3) the interest sensitivity of investment

(4) None of the above

According to Keynes, the supply of money with respect to interest rate is
(1) perfectly elastic (2) perfectly inelastic
(3) unitary elastic (4) moderately elastic

Which of the following correctly defines the effective revenue deficit as per budget of the
Central Government ?

(1) Gross Fiscal Deficit — Revenue Receipts

(2) Gross Fiscal Deficit — Capital Receipts

(3)  Gross Fiscal Deficit — Interest Payments

(4) Revenue Deficit — Grants for creation of Capital Assets

An imposition of lump sum tax on a monopolist will affect the equilibrium condition in
what manner ?

(1) It’s profit will decline and so also the equilibrium output.
(2) Both equilibrium output and price will decline.

(3)  Only equilibrium price will decline.

(4)  Only equilibrium profit will decline.

Paper-III 8 J-01-16
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20.

21.

22.

23.

24.

25.

If the revenue from income-tax increases from I 100 crore to ¥ 109 crore and nominal
GDP increases from ¥ 100 crore to ¥ 112 crore, the tax buoyancy of income tax is given
by which of the following ?

(1) 1.33 2) .75
3 3 (4) None of the above

Public goods are characterised by which of the following characteristics ?

L. Collective consumption II.  Non-exclusion

III.  Divisibility IV. Rival consumption
Select the correct answer from the codes given below :

Codes :

(1) TIand II are correct (2) Iand III are correct
(3) TIand]IV are correct (4) IIand IV are correct

If taxes are levied according to Ability to pay theory, it leads to
(1) Regressive Taxes (2) Progressive Taxes
(3) Proportional Taxes (4) Indirect Taxes

The whole incidence of a sales tax will be on the buyers when

(1) the demand for the commodity is perfectly elastic.

(2) the demand for the commodity is moderately elastic.

(3) the demand for the commodity is perfectly inelastic.

(4) both the demand and supply for the commodity are perfectly elastic.

Who among the following is not associated with the ‘Dependency Theory’ of
development ?

(1) Paul Baran (2) Samir Amin
(3) A.G. Frank (4)  Gunnar Myrdal

Match List — I with List — IT and select the correct answer from the codes given below the
lists :

List - I List - IT
a. Balanced growth maximisation . W.J. Baumol
b. Sales revenue maximisation ii. R.M. Cyert and J.G. March
c. Maximisation of managerial utility function  iii. R. Marris
d. Satisfying rather maximising results iv. D.E. Williamson
Codes :

a b c d
(H i i iv il
2) v i i i
3) iv i i ii
@ i v i
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26.

27.

28.

29.

30.

31.

World Population Day is celebrated on 11™ July because on this day in 1987 world’s
population reached

(1) 4 billion people (2) 5 billion people
(3) 6 billion people (4) None of the above

Which of the following is used by demographers as an indicator of the quality of a
populations’ healthcare and standard of living ?

(1) Age specific death rate (2) Age specific birth rate
(3) Infant mortality rate (4) Crude death rate

Match List — I with List — II and give the correct answer from the codes given below the
lists :

List -1 List - II
(Events) (Date)
a. Earth Day i.  3"March
b. World Water Day ii. 22" May
c. International Day for Biological Diversity iii. 22" March
d. World Wild Life Day iv. 22" April

Codes :

a b c d
(H iv i i i
2) i i i v
3) i v i ii

4 v 1 i

Clean Environment Cess is imposed on
(1) cutting of green trees (2) pollution of rivers
(3) production of coal (4) air pollution by factories

Which among the following option is true for the savings behaviour according to classical
economics ? Symbols have their usual meaning.

(1) MPS, . =MPS_ o (2) MPS,, . =0;MPS

wage

(3) MPS, .. >MPS o (4) Both (2) and (3)

wage

1

wage = profit =

In the classical theory of development, wage rate is determined by which among the
following ?

(1) The King (2) Demand and Supply
(3) Availability of Surplus (4) Collective bargaining
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32. Match List — I & II by selecting the correct answer from the codes given below :

List - I List — II
(Trade cycle) (Profit)
a. Recession 1. Negative
b. Boom ii.  Positive
c. Recovery ii.  Highest level
d. Depression iv. Low
Codes :

a b c d
() i v i ii
2) i i i iv
3) v i il i
4) i i il v

33. Match the following :

List - I List - II
a. Effective Demand 1. Keynes’ model
b. Real Money Supply i. M/P
c. Liquidity Trap iii. Lowest Interest Rate
d. Wage Flexibility iv. Classical Model
Select the correct answer from the codes given below :
Codes :

a b c d
() it i i v
2) i i i v
3 i i iv il
4 iv i i i

34. Which one of the following statements is correct ?
L Both Ricardo and Marx visualise crisis in capitalism.

II.  Technological development is ubiquitous in Ricardo’s theory of development.

Answer from the code below :

Codes :
(1)  Only I is correct (2)  Only II is correct
(3) BothI and II are correct (4) Neither I and II are correct

35. According to Nurkse’s vicious circle of poverty in the context of an underdeveloped

country, investment is limited by

(I)  Size of the market (2) Policy of the Government

(3) Lack of Investment Opportunities (4) Lack of savings
Paper-111 14

J-01-16



32.

33.

34.

35.

GAl-1 3R Fell-11 T GAfoTd HY T A T T H2l § ¥ el SR B 997
=t - 1 = - 10
(AT <3h) (L))
a. KNI ZRUTICHSh
b. ds ii.  ETEE
c. UTeEM iii. I=AH &N
d. T 1v. =
£
a b C d
(O il iv i il
) i i i v
3) iv i i i
4) i i il v

friTeRe st AfeTa Y

=t - 1 = - 10
a. Ve | 5k i % EEd
b. OWdfg® gIT MA@ ii.  M/P
c. TR STt i, =gFH A T
d. R S iv. FelERT diget
e 5T MU et 7 W I H T R
Fe

(=N

a b C d
(D) il 1 i 1iv
2) 1 il i 1iv
3) il 1 v 1l
@) v il il 1
f=Aifehe @ i |1 9T el & 2

I el 3R el ARy 1 A ISiag | Wehe il o i |
1. Repretl & oo fagia & drefirer fosma gaeamd ¢ |

T ST T et § HEl STl 99 e

&<

(1) o [T | (2) FAANTEE |

(3) IRIIA T | (4) 1A HF HE A Ho T Tl & |

U Iad ST o TS W Ao & TS & §YUsh o AR HawT =itcha A fohaeh gRT Fifha
B & —

(1) IR H BN (2) PR H AT

(3) o SFeraRi i et (4) = i
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36. In Kaldor’s model which among the following is not the crucial variable to explain
growth ?
(I) Rate of Profit
(2) Heterogeneity of Capital
(3) Lagged relationship among some explanatory variables
(4) Neutral technical progress

37. The natural rate of unemployment is generally thought of as the
(1) ratio of frictional unemployment rate to cyclical unemployment rate
(2)  sum of structural unemployment and cyclical unemployment
(3) sum of frictional unemployment and cyclical unemployment
(4) sum of frictional unemployment and structural unemployment

38. Consider the following economists :
L R. Rodan
II. H.W. Singer
III. A.O. Hirschman
Who among the above support the unbalanced growth approach to development ?
Select the correct answer from the codes below :

Codes :
(1)  All the three above (2) OnlyIand III
(3) Only III (4) IIandIII

39. Who among the following economists is not credited with the development of
endogeneous growth theory ?
(1) N. Kaldor (2) Robert Lucas
(3) Paul Roamer (4) Sergio Rebelo

40. Sustainable Development Goals (SDGs) adopted by U.N.O. consists of
(1) Eight Goals (2) Fifteen Goals
(3) Seventeen Goals (4)  Unspecified number of Goals

41. Which of the following is not true for Keynesian consumption function ?
(1) Average propensity to consume is equal to marginal propensity to consume.
(2) Average propensity to consume is greater than the marginal propensity to consume.
(3) Marginal propensity to consume is constant.
(4) Average propensity to consume declines as income increases.

42.  Which among the following growth/development models assume a dualistic economy ?
L Uzawa Model II.  Jorgenson Model
III. Lewis’s Model of Development IV. Swan Model
Select the answer from the code below :

Codes :
(1) IIIandIV (2) I, IIand III
(3) HandIV (4) All the above

Paper-I111 16 J-01-16



36. hoel % HiSA U gy Tl A % o1y (=ifhd § @ B 1 o Hewqol el ¢ ?
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43.

44.

45.

46.

47.

48.

Paper-I111

Which among the following model/concept is developed to explain stagflation ?

)]
3)

Phillips curve

Cost push inflation

(2) Triangle model
(4) Inflationary gap

Phelps golden rule of accumulation implies

ey
2
3)
4

a steady level of consumption

a maximum level of consumption

a level of investment that allows rising consumption

None of the above

Suppose the production function is Q = f(L); this production function will reveal

diminishing returns to Labour (L) in which of the following conditions ?
2 f@L>0,f'L)<0
4 fr@L)<0,f'(L)>0

(1)
3)

f(L)>0,f'(L)>0
f(L)<0,f"(L)<0

Match List — I with List — II from the codes given below :

/o op

List -1

Limit Pricing Theory 1.

Selling costs
Sales maximisation model 1ii.

Growth maximising model 1iv.
of the firm

Choose from the code below :
Codes :

ey
2
3)
“4)

Which of the following statements about a firm which is a price taker is false ?

)]
2
3)
4

a
11
i1
11
11

v
ii
ii

v

v

i1
11

v

List - 11
E.H. Chamberlin
Robin Morris
J.S. Bain
William J. Baumol

The demand curve of the firm is horizontal.

The market demand curve faced by the firm is horizontal.

The firm sells its product at the going market price.

The firm’s average revenue and marginal revenue curves are same.

If after one tax is substituted by another tax and still the total tax revenue remains
unchanged then such a tax incidence is called

ey
3)

Money burden

Differential tax incidence

(2) Real incidence
(4) Specific tax incidence

18
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43.

44.

45.

46.

47.

48.

freferiad 5 9 Tohg Hisel/STaaROT o foehd STeridr Thifd ol oA o fow fomar mr & 2

(1) TwfeTeT ash (2) <IER A
(3) TN A GETERITT (4) TR SR
et o WO oo a9 | g9iae €

(1) SUHIT T feR T/

(2) U T SATIHTH TR

(3) 1791 T U TR ST @ gU SUWHT Bl TS T & |
(4) SR H T PIE Tl

T fof 3ameT we Q = f(L) &, Feteiiea 9 ¥ g ofereen ¥ I8 3 %o 28 & Ufd "ed
TU Aot i URTIT BT 2

(1) f(L)>0,f(L)>0 ) f(L)>0,f(L)<0

(3) f(L)<0,f(L)<0 4) f(L)<0,f(L)>0

G-I B GE-11 &% 9 GAferd ST | = ST T Fel @ SR 1 997 F

T -1 = - 10
a. UREIHT B i 3 U OwRfed
b. fosRa AT ii. e ARG
c. Toska stushaHieor Higet iii. S ugaq
d. wH F Ggig Mfushamieor Aieel  iv.  faferad o, Sfdet

£

a b c d
() i1 1 v il
2) n v 1 1ii
3) i1 i1 iv 1
@ i1 1 1 v

hHIF ThRehdl HH & g H FEfeIiEd e § 9 i 91 Tod ¢ ;
(1) W 1 i o SifasT € |
(2) Y % THET YTl SNTR HAT Ok &fasT & |

(3) Y ST ICUTET o T SR ShiFd 0 fasha el & |

(4) ®H F Ed Ao R i T Th Uh 9 & |

STe g T T HY o T W Ufaeenud femam Siar & iR 5 off $ef 2 oW fer a1 @, o
Y AT Bl FToiiad 4 9 Sed ©

(1) Hiise 9% (2) ardiee HIEE
(3) Torvige s (4) fafsre S
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49.

50.

S1.

52.

53.

54.

If the production function is Q = 5.L%3 . K'3, then what is the value of marginal product
of capital, if 64 units of labour and 27 units of capital are used.

(1) 160727 2) 16/9
(3) 80727 4) 411_2

The assumption of transitive preferences implies that indifference curves must
(1) not cross one another (2) have positive slope

(3) be ‘L’ shaped (4) be convex to the origin

With capital labour ratio remaining constant, if the marginal rate of technical substitution
declines, the Hicks technical progress is said to be

(1) Labour saving (2) Labour using
(3) Neutral (4) Both (1) and (2)

The monopolist has no supply curve because
(1) there is a single seller in the market.

(2) the relationship between price and quantity depends on both marginal cost and
average cost.

(3) the monopolist’s marginal cost curve changes considerably over time.

(4) the quantity supplied at any particular price depends on the monopolist’s demand
curve.

If the Consumer Price Index Number for April 2015 was 120 and in April 2016, the same
increased to 126, then the percentage rate of inflation will be

(I 5 2 6
3) 12.6 “4) 105

Assertion (A) : Many developing countries contend that labour standards constitute a
barrier to free trade.

Reason (R) : Their competitive advantage in the global economy is cheap labour.
Select the correct answer from the codes given below :

Codes :

(1) Both (A) and (R) are true but (R) is not the correct explanation of (A).

(2) Both (A) and (R) are true and (R) is the correct explanation of (A).

(3) (A) is false, but (R) is true.

(4) (A) is true, but (R) is false.
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49.

50.

S1.

52.

53.

54.

g S Wi Q = 5.L%3 . K3 ¥ 3R alg 5\ o 64 sehreat 3R GST Y 27 Tohredl SUANT i
STt &, o ST o Wi SedTs o O Fefeiad § @ @ g 2

(1) 160727 2) 16/9
(3) 80727 4) 411_2

Tehtieh M i GEYROT & S SHIAE ash & forw ffofad & & =1 92 & -
(1) T TH H Hredl T & | (2) &TCH el W@l ¢ |
(3) L SR H BT | (4) A fog % ufd SR Bl & |

TSIl ST ST % T Tee U% TS dehHIeh! Iaed= st Fid 3< | AT 3Tl & af &R qehrien!
TTTT T el ST & —

(1) &9 ==9d g4 (2) =W IYENT T
(3) T 4) (1) 3R (2) At
TSR ST I MY ook el elell SHifeh :

(1) 9N Y Ushed fashar € |

(2) HHA R AE & S G T AT 3R ST A g1 W) R R €
(3) USHITUHRT T HH AT oI THATIN HIH! §5e AT |

(4) g a9 B T YT DT T AHT THIDHRT & T a5k T R Al & |

g 3T 2015 % T ST Yoo Gashish T 120 o 31X 31T 2016 H 3T 126 T F@ia!

&5, o TR ) A T FererE § 9 @ -
(I 5 2) 6
3) 126 @ 10.5

e (R) : S&d U fashreiier 391 9 & o 519 I Wi AR % T amem Sea=1 &3 ¢ |
HTUT (A) : Ve STITET T T AeTeieTeh oy Tl 519 & |

T 5T T B ° W S B TG Y

£

(1) =Hi(A) 3R (R) & &, afsbT (R), (A) I Hel = =6 € |

(2) T (A) 3R (R) Wl & 31X (R), (A) i Wl ARATE |

(3) (A) T &, R (R) eI ¢ |

4) (A) Tl g, i (R) Told € |
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5S.

56.

57.

58.

59.

Which of the following is/are included in Agreement on Agriculture of the WTO ?
L. Domestic support

II.  Market access

III.  Export subsidies

Select the correct answer using the codes below :

Codes :
(1) OnlyIlI (2) TIandIII
(3) IIandIII (4) All of the above

According to the purchasing power parity theory of exchange rate determination, the
currency of country X would appreciate against that of country Y if :

(1) the inflation rate in country Y is less than that in country X
(2) the country X gets more foreign direct investment than country Y
(3) the inflation rate in country X is less than that in country Y

(4) the rate of growth of Gross Domestic Product in country X is greater than that in
country Y

Consider the following statements :

L. India-Japan Comprehensive Economic Partnership Agreement (CEPA) is the India’s
third CEPA after Singapore and Korea.

II.  India-Japan Comprehensive Economic Partnership Agreement (CEPA) is the India’s
first with a developed country.

Which of the statement(s) given above is/are correct ? Select the correct answer from the
codes given below :

Codes :
(1) Onlyl (2) OnlyIlI
(3) BothIandII (4) Neither I nor II

Who among the following is credited with first drawing attention to trade creation and
trade diversion effects ?

(1) Bella Ballsa (2) Jacob Viner
(3) Paul Samuelson (4) G. Heberler

International trade is based on the idea that

(1) Exports exceed imports

(2) Imports exceed exports

(3) Resources are more easily mobile internationally than goods

(4) Resources are less mobile internationally than the goods
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60. Which among the following statements are true for the New Trade Theory (NTT) to
explain the basis of trade among nations ?
L This theory explains the trade among ‘similar nations’.
II.  This theory exploits the occurrence of increasing returns in production.
III.  Paul Krugman is associated with this theory.
Choose the answer from the code below :

Codes :
(1)  All the three (2) OnlyIandII
(3)  Only II and 111 (4) Only III

61. Which of the following statements regarding Standup India programme are correct ?
L It is for SC and ST entrepreneurs
II.  Investment limit is between X 1 and 10 crores
III. It will cover minorities
IV. It will promote entrepreneurship among women
Answer from the code below :

Codes :
(I) TandIV (2) TandII
(3) II, I and IV (4) All the above

62. Consider the following actions that the Government can take :
L Devaluation of the currency
II.  Increase export subsidy
III.  Encouraging FDI
Of the above statements, which can help reduce the current account deficit ?
Select the correct answer from the codes given below :

Codes :
(I) TandII (2) IIand III
(3) IIonly (4) All the three
63. Cropping intensity is defined as
Gross Cropped Area Net Sown Area
(M Net Area Sown 100 @) Gross Cropped Area x 100
3) Net Cropped Area < 100 @) Gross Cropped Area < 100

Gross Sown Area Gross Sown Area
64. Assertion (A) : There is an inter-locking of product and factor markets in Indian
agriculture.

Reason (R) : India’s agricultural economy has become market oriented.

Select correct answer from the codes given below :

Codes :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).

(3) (A) is true, but (R) is false.

4) (A) is false, but (R) is true.
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65. Which one of the following denotes the size of an operational holding in Indian
Agriculture ?

(I) Own Land

(2) Own land + leased — in — land

(3) Own land + leased — in — leased — out land
(4) Own land - leased — out land

66. In an open economy input-output model if (I — A) is technology matrix, the viability
condition to be satisfied is

(1) I-Al<O0
2) I-AlI>0
3 I-Al=0

(4)  All principal minors of the matrix (I — A) must be positive

67. Given the consumer’s demand function
D =50 p—O.S y1.8
Where D = Demand, p = price, y = income
The price and income elasticities of demand are
(1) 05and 1.8 (2) Sand 18
(3) 1.8and 0.5 (4) —-05and 1.8

68. For a firm with the following total cost and demand functions :

1
C:§Q3—7Q2+111Q+50

Q=100-P

The profit maximising level of output Q is :

(H 11 2 9
3) 10 4 12

69. For Cobb-Douglas production function Q = 100 106 K04 following statements are given :
(a) Itis alinear homogeneous function
(b) Elasticity of Factor Substitution in this function is one.
(c) It represents increasing returns to scale.
(d) Elasticity of Q with respect to K is 0.6.
Answer from the codes given below :
Codes :
(1) Statements (a), (b), (c), (d) are correct.
(2) Statements (a), (b) are correct while (d) and (c) are not correct.
(3) Statement (a) is correct, while (b), (c) and (d) are incorrect.
(4) Statements (a), (b) and (c) are correct, while (d) is incorrect.
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£
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70. The below diagram graphs the constraints of a linear programming problem. Which of the

following is the feasible region ?

%

A

E

C

I

0 B T D =X
(1) Area OCD (2) Area OEGHB
(3) Area OCGHB (4)  Area OCGID

71. Which one of following pairs is not correctly matched ?

(1) Durbin’s h Test — Autocorrelation in autoregressive models
(2) Dicky-Fuller Test — Heteroscedasticity
(3) F-Test —  Opverall significance of regression

(4) Distributed Lag Model Koyck Approach

72. In terms of the diagrams below, where e = errors, X = variable, heteroscadasticity is

present in :
o2 o2 o2
.
X X X X X X +#++’
O n X 0 g X
(1) (A) and (B) (2) (B)only
(3) (A)and (C) (4) (B)and (C)
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e2

0 X

(1) (A) 3R (B)
(3) (A) 3R (O (4) (B) 3R (C)
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73.

74.

75.

In the context of simultaneous equations econometric models, consider the following
statements :

L. Identification problem is to be dealt with before estimation.

II. Two stage least squares method gives consistent estimators if equation is over-
identified.

III.  Under indirect least squares method, least squares method is applied to the reduced
form equations.

IV. Order condition is both necessary as well as sufficient condition of identification.
Use the following codes to answer the question :

Codes :

(I) TandII are correct, but III and IV are incorrect.

(2) I, II and II are correct but IV is incorrect.

(3) I, II III and IV are correct.

(4) I,IIand IV are correct, but III is incorrect.

Coefficient of determination of a regression model

(a) measures the proportion of total variations in the values of the dependent variable.
(b) it can never be negative.

(c) it explains the influence of the intercept on the dependent variable.

(d) it indicates the direction of inter-relation between the dependent and independent
variables.

Select the correct answer from the codes given below :

Codes :

(1) (@), (b), (c) & (d) (2) (@ &(b)

(3)  (b), (c) & (d) 4 () &(a)

Match the following items given in List — I with those in List — I :
List - I List — IT

a. Dummy variables 1. Stationarity

b. Contingency Table 1ii. Qualitative Variables

¢.  Unit Root Test iii. Rank condition

d. Identification iv.  y2-Test

Codes :

a b c d
() v i i ii
) i il i v
3) SIS 1§ S V B \Y

4 1 iv 1 il
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73.  TUT GHIHOT HiSA o T3 H 7 AT o) foraR &Y
I ifufeRoT ToEr et @ Uedd & il AIfey |
1. I T =gaw o fafy 9a sneher 3t 7, afg T o1 Sifeiia ¢ |
I 3TedeT =g o fafy o qHiekoT & © °ied 3 37ehei &g <J7ad ol oy T S&mTel BT § |
IV. T9eRor & i & o9 91 3Tavash 31 v Bl ¢ |
ST &q HHfeRad el T ST e

E4

(=N

(1) 13RI & e, WAfh M1 AR IV T € |
(2) L1131 W&l &, eifeh IV Terd & |
(3) LII I ARV & |

(4) LI SRIV Tl &, wfee I Tord & |

74. TH GHEIHFUT HigA & (HUR o7 & {oTT 1 Tl & 2
(a) TSI =R % AT o ot TR0 & S H I & |
(b) € At TR &l &l Fehell |

(c) TE AT = UL =Y o TSl ohl AT el € |
(d) IT 3T 2R T =) % TGy i {90 I EhTT T & |

e ST T et ° ¥ e 3T HN T DI

E T

(1) (@), (), (c), (d)

(2) (a),(b)

(3)  (b), (c), (d)

@ (), (a)

75. G-I S G-I & 9T GATIT HireTT

=t - 1 = - 10

a. THI™ i et

b. 3T ATfeTeR ii. TOTeTR W

c. THEE AT il HiC I

d. iR iv.  y*—ateToT

HE

(1 v m 1 i1
2 1 1 1 1v
3) 1 i 1v
4 1 iv 1 il
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Space For Rough Work

Paper-I11 32 J-01-16





